1.

ReE7FAN #ERFE RIBEEEE 01

BERB - 0FR BT E RO K. (S35, Afks50™, B2, C#33)
(1) z=1 (2) z=1
(3 z=4+3i (4) 2z =2(cos30° + isin 30°)
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2.

(3)

BER - oI ETERD K. (S0P, A1, B#k24, CH34)

z=-4 (2) z=—1

z=—8—09i (4) 2= —/6(cos120° + isin 120°)
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RETFAN #BFRFH HREEEI 01 HIHESH

R - OFWEEHRERD K. (S35, A0, B2, C#H34)

Im 4y KRN BT 5 o WEE, y BEHRTH 5.
Yy
* HRY 2 DEER (real part) Rez b L<IE Rz LT,
0 EFY 2 OER (imaginarypart) Imz b L IE Sz KT,
0] r Re
BFEE 2z =a +yi (i FBBORL | 2,y 3FE) BPEZo50tUE, Rez =2, Imz =y TH 5.
(1) z=1 (2) z=1
2= 140i THIHS, =04 1i THEHS,
EH Rez=1 EE Rez=0
EE Imz=0 EE Imz=1
(3) 2=4+3i (4) 2 =2(cos30° +isin30°)
EE Rez=4 2z = 2c0s30° + 2isin 30°
EEH Imz=3 :2'£+2i°i
2 2
=V3+1i
K& Rez=+3

B Imz=1
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BHER - 0FF 2RO L. (S0, A1y, B2y, C#H345)

(1) z2=-4 (2) z=-i
= —4+0i THBDD, r=0+(=1)i THBDS,
EE Rez= -4 £E Rez=0
BE Imz=0 BE Imz=-1
3 2=-8-09i (4) 2= —+/6(cos120° + isin 120°)
EE Rez= -8 z = —+v6cos120° + (—\/6) isin 120°
BB Imz=—9 (A ey V3
B tmz =V () + (-VO)i -
V6 32 .
EAA
=R Rez:@

BEH Imz= —32£
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